I B 5t
ERMANNO BALZI

STANDARD LIFTER

(ERMANNO BALZI)




mEFRRE

(ERMANNO BALZI)

2.99



HAFARRKE

L 10,1

QAgG

B 0,05

I S O T

SLS1012300

SLS1012500 12 98 5,1 500
SLS1016300 16 98 5,1 300
SLS1016500 16 9,8 5,1 500
SLS1020300 20 9,8 5,1 300
SLS1020500 20 98 5,1 500
SLS1025400 25 12,8 6,1 400
SLS1025600 25 12,8 6,1 600

7Rk 1.1213

B 61-64 HRC BAERERE 1,5-2mm

I S N T

SLS2012300

SLS2012500 12 98 5,1 500
SLS2016300 16 98 5,1 300
SLS2016500 16 9,8 5,1 500
SLS2020300 20 9,8 5,1 300
SLS2020500 20 98 5,1 500
SLS2025400 25 12,8 6,1 400
SLS2025600 25 12,8 6,1 600

7l 2343

f#FE: Surface > 950 Vickers - HV 0,3

(ERMANNO BALZI)

PATENT PENDING



REFNFARRKE

VITON
L 01 O-RING
<
Q
WS A B L
SLSR1012300 12 6 300
SLSR1012500 12 6 500
SLSR1016300 16 6 300
SLSR1016500 16 6 500
SLSR1020300 20 8 300
SLSR1020500 20 8 500
SLSR1025400 25 8 400
SLSR1025600 25 8 600
7HEE 11213
K 61-64 HRC B&REE 1,5-2mm
WS A B L
SLSR2012300 12 6 300
SLSR2012500 12 6 500
SLSR2016300 16 6 300
SLSR2016500 16 6 500
SLSR2020300 20 8 300
SLSR2020500 20 8 500
SLSR2025400 25 8 400
SLSR2025600 25 8 600
Mk 2343

f#FE: Surface > 950 Vickers - HV 0,3

(ERMANNO BALZI)

PATENT PENDING



NBIRE12FRERABFERE

w 212w RER R
0
| | |
T T \ ¥
i BEEE B
\ i )
el o |
\'/ ‘v ! 1
| M8 | ‘
o .
| i
r ﬁ\i | /J' ‘ ®
&- - o
i [
& : ‘ 12 105 ! ‘ “
N D | ‘
[ ‘ | ! ‘
|
v
Co D12 wr
11,6 0,02
+0,5
Ao
|
\
E+0,02
SPECIAL DIMENSIONS ON DEMAND
WS H A E B C
70 40 70
20
1=1.2738 90 60 90
SLC1012 30
2=1.2343 (48+50 HRC) 105 105
80 40
120 120
iTE I
SLC1012 1 1 0 5 0 0 0 3 0

— MR

(ERMANNO BALZI)

PATENT PENDING




NBIRE12FREREFERE

o Q12w REREEEE
T i
T . T
B L |
K’/ ? i ‘
‘ M8 ‘ ‘
| .
| 1 E
e el [ ‘
o | & g g
. il Tz
é : | | 12 :05 L ] ‘ @
N | ‘ : j S
L
19 01 @12 w7
¢ 11,6 2000
A +g,5
|
\

Ez0,02

SPECIAL DIMENSIONS ON DEMAND

1=1.2738 90 60 90
SLC2012 40
2= 1.2343 (48-50 HRC) 105 " 105
120 120
1] Eaf5l:

SLC2012 1 1 0 5 0 9 0 0 4 0

— MR

(ERMANNO BALZI)
4 PATENT PENDING




NBIRE16IRERBERE

© 212w PR ELEn
0
| | |
T T 7
i BEEE B
‘ )
il - |
\'/ ‘v ! ‘
| w8 ]
| I
| I
r ﬁ\i | /J' ‘ ®
&- = o .
= \ ‘ : Tl s
N ! | e
8" | ! ‘ 12 105 ‘ ‘
| ‘ !
e
12
Co 16 Hr
13,6 0,02
AT
|
\
E+0.02
SPECIAL DIMENSIONS ON DEMAND
Hs 7E A E B C
70 40 70 30
1=1.2738 90 60 90 40
SLC1016
2=1.2343 (48-50 HRC) 105 " 105 50
120 120 60

1TE Ml
SLC1016 1 1.0 5 0 9 0 0 5 0

— MR

(ERMANNO BALZI)

PATENT PENDING




NBIRE16MEREFERE

5 R R
T | ~
T . T
B L |
~ ~
i | |
| o I
‘ ‘ 2]
s Rl J' | “
o | b g = |
. il [
§ : LH ‘ 12 z05 L ] ‘ ¥
” | ‘ : j S
L
26 0,1 @16 Hr
c 13,6 1002
A +g,5

Ez0,02

SPECIAL DIMENSIONS ON DEMAND

I T O O U TR
70 40 70 40

1=1.2738 90 60 90

SLC2016 50
2=1.2343 (48-50 HRC) 105 105

80 60
120 120

1T840
SLC2016 1 1.0 5 0 9 0 0 5 0

— MR

(ERMANNO BALZI)
6 PATENT PENDING




NBIRE20fRERBFERE

o @12 RS
T i
I 5 1]
‘ i )
e == |
~ ~ ]
i | | |
‘ M8 ‘ ‘
‘ |
| -
s Jw\ ‘ ®
&- - e o
- [ ‘ ‘ E
g ‘H‘Jl ¢
=3 | | 12 105 ‘
1) | ‘ | ‘ o1°
Lo
2
Co @20 Hr
16,9 0,02
AT’
\

Ex0,02

SPECIAL DIMENSIONS ON DEMAND

1=1.2738 % ” %
SLC1020 105 60
2=1.2343 (48-50 HRC) 105 o

120
120 80 "

1] Eaf5l:
SLC1020 1 1.0 5 0 9 0 0 6 0

M

(ERMANNO BALZI)

PATENT PENDING



NBIRE20fERFERE

5 R ppsEs
™ |
I S 1]
‘ !
il o |
~ ~
i | | |
‘ M8 ! |
| .
| 1 E
e el [ ‘
o | & g g
| DRLE ml
s ! 12 105 h ] ~
® | | il J.L
L
28101 @20 Hr
c 16,9 1002
A+g,5
|
\

Ez0,02

SPECIAL DIMENSIONS ON DEMAND

B S T N
70 40 70 40

1=1.2738 60 9%
SLC2020 105 60
2=1.2343 (48-50 HRC) 106 70

120
120 80 80

iTE I
SLC2020 1 1.0 5 0 9 0 0 6 0

— MR

(ERMANNO BALZI)
8 PATENT PENDING




NBIRE25ERBFERE

3 B ER B
T i
T 5 1]
‘ i )
il == |
~ ~1 ]
i | | |
‘ M8 ‘ ‘
‘ |
| -
o Jw\ ‘ ®
&- T | |
| Y o
3 | | 15105 i ‘ ¥
2] . | ‘ °
] ! Do
‘ \
c’s @25
19,9 10,02
AT’
\

Ex0,02

SPECIAL DIMENSIONS ON DEMAND

B S
70 40 70 50

1=1.2738 90 90 60

SLC1025 60
2=1.2343 (48-50 HRC) 105 106 70
120 80 120 80

1T
SLC1025 1 1.0 5 0 9 0 0 6 0

— MR

(ERMANNO BALZI)

PATENT PENDING



NBIRE25EREFERE

© Q12w . !
[t} RERESEEE
T i 7
T LTI
B L |
hd ~t |
| M8 |
\ - .
e el [ ‘
o | & e =
: BERJ I
N I | . [ <
9‘; | ‘ 15105 Ll ‘
| ‘ | T | ;L
b I
34 10,1 @ 25 Hr
cs 19,9 1002
+0,5
Ao
|
\
Ex0,02
SPECIAL DIMENSIONS ON DEMAND
w/S 7E . E B C
70 40 Zg
90 " 70 70
1=1.2738 90
SLC2025 105 8
2'=1.2343 (48-50 HRC) 105 90
100
120 80 120 o
120
1] Eaf5l:

SLC2025 1 1.0 5 0 9 0 0 7 0

— M

(ERMANNO BALZI)
10 PATENT PENDING




HRE IR EAFERE

C 0,05
\
\
T~
@
[
[
|
\
N
=

0,1 0,1
A 005 B 005

I TS N I

SLK1012102 M5x20
SLK1016508 20 10 52 M5x22
SLK1020304 25 10 52 M5x28
SLK1025001 30 12 72 M6x35

7El 1.2343
TBE: 44-46 HRC

C 0,05

N
b
4‘4 |
@
\+/

|

L

W

A 8 (1)5 B g (1)5
S A B c D M compaTeLE

SLK2012102 30 10 52 19 M5x12

SLK2012102R 30 10 52 19 M5x12 v
SLK2016508 40 10 52 26 M5x12

SLK2016508R 40 10 52 26 M5x12 v
SLK2020304 40 10 52 28 M5x12 v
SLK2025001 50 12 72 34 M6x16 v

7El: 1.2343
TERE: 44-46 HRC

(ERMANNO BALZI)
PATENT PENDING 11




BRINEFRRE

-
H;j

T
i
L;?

H 10,02

’ |
I |
— e — | A :
O |
(| | 2l *
o ‘
o Bl | [T |
M8 N
B12 w7
| |
\ Vo
' [
e . il
P L 3 sl
w0 / \ / (Al
o - I ;@: %) _
m \ J ‘\ @ \ N
T Sl & Nt
B il
' [
| ‘ |
|
F 0,02 M w7
G 10,02
A -
| &% A B C D E F G H L M N
SLD012102 85 30 28,8 12 35 30 60 20 47,5 6 M8x30
SLD016508 85 40 28,8 16 37 30 60 22 47,5 6 M8x35
SLD020304 85 40 28,8 20 39 30 60 24 475 6 M8x35
SLD025001 85 50 29,3 25 42 30 60 27 51 6 M10x40

7R 1.1191

(ERMANNO BALZI)
12 PATENT PENDING




PEHMEAFRE

Eﬂuw

I S U R BT T
9,5 M8 12 M6

SLPO12 34

SLPO16 39 9,5 M8 16 M6

SLP020 39 9,5 M8 20 M6

SLP025 44 13 M10 25 M6
Mk 1.7225

(ERMANNO BALZI)

PATENT PENDING

13




NEMIinERFRE

STEP1
SMFISHEIT BN FRHMRER ZREBE, BMIATE AR

FrEERE AL

STEP 2
EREENERAFESLD: - A LUE MR R RERIINT.....
—BRHBETERRRE, SAILURRUTHEHAT:

o SHIBER: RRHEER, FEIEMHEHITIHREE
« DHIEEAR: BIRHHREREZREEE, THAIEAT

L. - L m
|
7

]
|
-+
|
|
|

(ERMANNO BALZI)
14 PATENT PENDING




NEMIiREFFRE

SEHNEPRIE I UL AR BN & — TR :
o AEITEFBERENSSLC . HFBIRSLD | EAMEHESLP ...
+ ARHHSRERZEEREE, BUHS

(ERMANNO BALZI)

PATENT PENDING

15




IEFBRRERR

TARCAIEEIRETROIRTT, PIBURA, RBHMR RN ST

Code: SLC.....

AR TR AETH R E

EALA

M/

(ERMANNO BALZI)
16 PATENT PENDING




(ERMANNO BALZI)




ERMANNO BALZI

Viale Enrico mattei, 13

25080 Mazzano (Brescia)

Tel: +39 0302120868

E-mail: info@ermannobalzi.com

TKAMASERAFT

ik TR ERIN X &R K688 5414406 = E
BiE: (+86)-574-89119140

BE: (+86)-574-89119141

Ningbo Balzi Trading Company, Ltd

mould parts and components

Room 406, 4th floor,

No. 688 Jinda Road,315100,

Yinzhou District, Ningbo

Phone (+86)-574-89119140

Fax (+86)-574-89119141

Contact person: (English speaking)

Stefano Osellame

E-mail: stefano.osellame@ermannobalzi.com
Contact person (Z:@1EMKIE):

Alice

E-mail: infochina@ermannobalzi.com



